MATH1040 Practice questions 7

1. Answer each of the following questions, showing all working.

(a) Find f(—4) where f(z) = —(2? + ).
(b) Find f(4) where f(z) = 2? — z.

(c) Find f(—4) where f(x) = —(2% — z).
(d) Find the domain of f(z) = -1+ /z.
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(e) Find the domain of f(l:) m
(f) Find the domain of f(z) = 2/x.
—11
(g) Find the range of f(x) = vt
(h) Find the range of f(z) = \/%

(i) Find the range of f(z) =9 + /.
(j) Solve each of the following quadratic equations without using the quadratic formula.
(i) 3z(—z+2) =0.
(i) (—4z—2)(-3z—-1)=0.
(iii) —3(-3z+3)(z—2)=0.
(iv) (—4z+2)? =0.
(k) Solve —3x2+2x—1=0.
(1) Solve 4z —7x =0.

2. Answer each of the following questions, showing all working.

(a) Find f(2) where f(x) = —22 + .
(b) Find f(—2) where f(z) = —(2? — ).
(c) Find f(1) where f(z) = 2% — 2.

(d) Find the domain of f(z) = 75;015; 1
(e) Find the domain of f(z) = /—8z.
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f) Find the domain of f(x —.
(0 o) = 2=
9
Find th f —_
(g) Find the range of f(x) = eyl
(h) Find the range of f(z) 13
in ran x) =
& V2t
(i) Find the range of f(z) = 14 T
—r—

(j) Solve each of the following quadratic equations without using the quadratic formula.
(i) 4z(3xz +2) = 0.
(i) (2z—1)(3z—3)=0.
(iii) —2(3z 4+ 1)(4z —3) =0.
(iv) (x —2)2=0.
(k) Solve —3x2+4x—2=0.
(1) Solve 3x2+ 8z =0.

3. Answer each of the following questions, showing all working.

(a) Find f(—3) where f(z) =22 — z.

(b) Find f(—4) where f(z) = -2 + 2.

(c) Find f(—1) where f(x) = 22 + .
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d) Find the domain of f(z) = —.
(@ O



10
| =7+a|
(f) Find the domain of f(z) =12+ x.

(e) Find the domain of f(x) =

-7
(g) Find the range of f(at) m
(h) Find the range of f(z) = (z — 13)2.
-2
Find th f
(i) Find the range of f(z) = Gy

(j) Solve each of the following quadratic equations without using the quadratic formula.
(i) z(3z+1)=0.
(ii) (—3z —2)(x —3) =0.
(iii) 4(4z + 3)(—x +3) =0.
(iv) (—4z+1)* =0.
(k) Solve 4z%—5x+4=0.
(1) Solve —42%+7x—3=0.

4. Answer each of the following questions, showing all working.

(a) Find f(1) where f(z) = 2% + .
(b) Find f(4) where f(z) = (—2)? + .
(c) Find f(1) where f(z) = —a? +az
(d) Find the domain of f(x) =

9
e) Find the domain of f(x) = —
©) o= oz
(f) Find the domain of f(z) =2— | |.
(g) Find the range of f(z) = T—ix\
(h) Find the range of f(z) = —222 + 8.

(i) Find the range of f(z) = 11 + /.
(j) Solve each of the following quadratic equations without using the quadratic formula.
(i) 4x(—2z—-1)=0.
(i) (—22—3)(3z+2)=0.
(iii) 3(—z+3)(2z —2) =0.
(iv) (z+2)2=0.
(k) Solve 222 —3z+2=0.
(1) Solve —2z% —6x —4=0.

5. Answer each of the following questions, showing all working.

(a) Find f(—3) where f(z) = (—)? + z.
(b) Find f(4) where f(z) = —2% + x.
(c) Find f(—1) where f(z) = —2? — .
(d) Find the domain of f(z) = —3+ | = |.

(e) Find the domain of f(z) = \/%-i—x
—11
(f) Find the domain of f(z) = oy

(g) Find the range of f(x) = —12 + V.
(h) Find the range of f(z) = —12/z.
(i) Find the range of f(z) = 222 + 2.
(j) Solve each of the following quadratic equations without using the quadratic formula.
(i) 4dz(z—-2)=0.
(i) (=3z—3)(2z+2)=0.
(iii) 4(4x — 3)(—x —2) =0.
(iv) (—2z+1)*=0.
(k) Solve 22+4+z+3=0.
(1) Solve 42 +5x+1=0.



